1/0 do/dsqrt{d } [GeVY

Ratio to ATLAS

o o? o
o (@) o
~ (0] ©

o
o
o)

0.04

0.03

0.02

0.01

[EEY

0.5

7000 GeV pp Jets
_| T I T I I I | I I I T I T |_
— Splitting scale\/ d,, (antl—kT(l.O), 500< p_< 600, ly| < 2.0) =
— B ATLAS _|
[ --3-- Herwig 7.0.0 default ]
— —a— Pythia 8.226 default |
[ ¢ Sherpa 2.1.1 default —
: _|
- 2
: \\ _________________________ :
= R 4 S SR 51

l l ! l

0 50 100

sqrt{dlz} [GeV]

Rivet 3.1.0, = 6.5M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


